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Lesson 2: Student Resource Sheet

Meteorite Impact
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The most popular explanation right now for why the dinosaurs died out, is meteorite impact.

Log on to: http://palaeo.gly.bris.ac.uk/Communication/Lee/Welcome.html  

This site gives you evidence supporting the theory of a meteorite impact. Explore the site.

It is suggested that a meteorite 10 kms in diameter hit the Earth at the end of the Cretaceous period, causing massive amounts of dust and ash to be thrown up into the atmosphere.  This blocked out the sun, making everything cold and dark, and stopping plants from growing.  Herbivorous animals soon starved, followed soon by the carnivores.

Scientists haven’t been able to prove that a meteorite impact caused the dinosaurs to become extinct, but if there had been a meteorite impact, it would have led to these effects.  It is a reasonably likely explanation, as we know that meteorite impacts can, and do, occur.

Here is some evidence to support this explanation:

Tiny pieces of basalt rock have been found in countries all over the world.  You would normally find basalt on the ocean floor.  How did it get from the ocean crust to dry land?  Was it thrown up into the air by a huge meteorite impacting with the sea?

 (The second most popular explanation for why the dinosaurs died out, is erupting volcanoes (volcanism).  This could have thrown basalt into the air – but not high enough to be found all over the globe, on tops of mountains for instance.  So volcanism does not fit the evidence so well.)

Iridium deposits – found in the rock strata at the end of the Cretaceous period.

Iridium is found in high concentrations in meteorites from space. Could the iridium have come from a meteorite, given the amounts involved?

· A crater – 170km in diameter – was found in the Yucatan Peninsula in 1989.

Could it have been made by a giant meteorite?

The theory that meteorite impact caused the death of the dinosaurs explains lots of facts, is simple, and combines with other explanations to make a well-fitting jig-saw. Other explanations don’t fit so well.  So we can say that, according to the available evidence, it is the best explanation we have at present.
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